


10 anpens
KnaccHasa pabota

9-8=y 6-2=B 5-3=p
8-5=a 5+4=e 6+2=1

3+3=e 7-2=H 4+3=H
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MpoBepbL cebSA!
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CocTtaBneHune ypaBHEHUMN NO
CX¢Mam
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MpoBepb cebA!
X=K-J
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MpoBepb cebA!
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a)X=aaaa 'l
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PU3MUHYTK




Pewin 3agavy.

K Kopmywxe npunemeno
3 CHe2upsi, A CUHUU —
Ha 2 6onvuie.
CrxonvkKko nmuy npuiemeno K
Kopmyuixe?



[TomoLy




[lpoBepbL cebA!

1)3 + 2 =5 (cuHuL npuneTeno)
2)3+5=8(Bcex NnTuy ctano)
OTBeT: 8 NTUL
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Pednekcus - oCMbICNeHue

® CerogHna A pewwun ...

@ CeroaHsa A noHsanN ...
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pa3BUBavicsa
JKVI3HD!

CTPpEeMIICh K HOE
M3MEHEHUSIM,

oOorarar cBOIO



Byab KO BceM - "
406p0>1<eAaTeAbelM,







